L)

C\) m(—&tﬂ‘)
X\C‘&) = X(_'&+lf>_

Scanned by CamScanner



&

Py 21
O.) wo =\11 L& :%T‘ﬂ'
We =\ITT = (Yo=T Poviod = Q.\/l;*ae‘ﬁ \ﬁ\“cl’u’w%
= B}
D= s T Peviod =4,

b) & &iﬂmw‘ /(AM

"gt,efs}ﬂ, zj—‘w'/ LB%”’;& aA e');LTM =4
c) e x[m] - Q')%,ﬁ'”-l-aiﬂlm,
Wo = 5T o Bt o=
L;: :% = Period=3 %;— =2 3 favied =y
Lem(Bn) =8 podog
D il

Scanned by CamScanner



i
%Em—\-l_j _
"L‘Yil T T r %y T
216193l J“
CRr
%E*BN&\]
[1%
1=
01) x, &) = XL+)+)(C“'£')‘
4
W -t) = xbt)+ xlt)
; ) ) — = ‘ZCC'Q.
X
Xaé'f) ) LNy
b) W, (%) - x£+5 - % (~t)
9.
Lol-t) = w(t) — x(+)
x = = x(_ﬁ)

T Xo ("') l\S od:i.

Scanned by CamScanner



7
b)Q) %\o' _ oc‘cj
A G - odd
= xIn] 08 odd.
Y
G w @) = o8 (5T "l‘l{
/
v
S\em Svtan
oot )0y gven
CW -y )
Mg
i 2
LT
- R 13
’<\ C"'Q).
-
- 1
-3 "2 | 2 3
2\)‘*"\‘2‘7““& o &) 4 % (=)
<, a-> 2.€
a
SN A-AE -
o - [
Y
Kl) = %, B D S ® ] = S {‘x.u)j
Sad SX&(+>3 = Xl/edat_%>~

Scanned by CamScanner



%yt 2 “\2 .
A 1 1
RSN
-2\ o l 13
-
3
"%y E"'“,I] 2 ‘ A \
t
- "2 0 -ﬂ__ '2

£ mﬂ} - X lJ %)
2 A

~y = -l *
b '?')(;]:N\'J/B LA '*\t"'“j ’-}“ .
- > - X [ L2 T
< l 5 -\ © 3
._1 )
WL K
=\
L" ) 0.) Eob < oo Pao - Q,
Possibln..
Crom . afn] = STw] Esn =4 T =,
b) T = OO (Pm = 0,
\)Lb.
_\ =S _
) = t/%u(ﬂ- COQ‘OD Fo =0,

C) En <00 Pw >0

oo N 4 \
No - B, <00 D j\%m\Q&t £ B B i finate
s O]
7 =
= lctol¥dt € B X TeéR
G=i [

Scanned by CamScanner



loviadex P, - -gilm _';E \(l {%H)\Q dt

<flwwm o B =0
T AV

Po 20 = o=

Ew
) = 4 2o = ®© Pao =4
Q) . EoD 00 Pdo = o
Wk te (@ . Not )30331'%

b e e Pozw possibe
x ) = 1
5oy yw) = oxlla) oy @) = (T8)
s |

b) %Lf):Cg&CW@%C@).

x )= o0 ¥F v bofn % & ANC
L Ve g =4 ¥
Nt vt WL

9y L)

1)

- 3&\3: 'Z"am[% xEﬂ),

.X,\I:"f\j =1 O Baﬁrb ?,fv.fl 8 EV\'] = 0
KBl o s%.
r\)o{‘- fV\\JQ.‘(_HbQu
QL) _ %(f) 'X—ft&.) = i Lj\tl‘)-“-ﬁ o N (‘V\\Jb(#%‘
dt

X;\CJ&B =8 (d;)\(:{') =0

) ] =0 muﬁ\tmj =0 .
) o'!‘ ) p;\(‘HlD«Qk .
wgTnT= ) /We\«‘J, {t] =0 | N By

Scanned by CamScanner



